Part B

Q1A Archiving’s purpose is to create an historical record to comply with legislation and for good corporate governance practices.

These need to be kept for a number of years.
Example: archiving student reports at a school for record keeping requirements


Backup’s purpose is to be used for operational recovery of business systems and hold current, active company data. 

These usually need to be kept for a number of weeks.

Example: backing up current student reports in case of system failure, to enable recovery of current reports, and allow report production to be completed.

Q1B The main differences between backup and archive are that backups are used for operational recovery of business systems and need to be kept for a number of weeks, archives are created to comply with legislation and good corporate governance practices and need to be kept for a number of years.
OR

Achives hold historial data

Backups hold current, active data

Q2 User documentation is for users to help and support the use of a software package. Internal documentation is for programmers to help and support the debugging or alteration of a software package’s code.

OR

User documentation contains clear and easy to read language, step by step instruction followed by clear diagrams or pictures and has no assumed knowledge.

Internal documentation will not have diagrams or pictures or steep by step instructions, its language will be technical and have a high level of assumed knowledge

Q3

What a nice question – and they could have used conventions entirely created out of cloud cookoo land and they cannot be denied a mark – IF it was the convention they used then they have answered the question. Will we be asked to provide the conventions we used in order to check up on them?

Oh well we used a 3 letter prefix to denote the object type followed by a meaningful identifier, starting with a capital, and if necessary an underscore separator
Eg txtFirst or txt_Last_Name

Advantage 1 Easier to debug as it is easy to see the intended use of the variable

Advantage 2 Consistency in programming when module is part of a larger program

Q4C

Oh dear – how much is many times?

Anyway 600Mb is not much to put into RAM these days so out of the speed advantage being sought C is better than B.

But a single access using A will be quicker than C having to load into memory and then do the read.

The question is where the time for the number of accesses outstrips the time to load the CD into RAM?

So I am guessing “many” is supposed to indicate this so I have put C

I personally could not argue against A if the reason went along the lines of the direct access of many times is still quicker than the time to fully load 600MB into ram

Simply because we have no quantifiable measure in this question to supply a definitive answer

Q5

The feasibility factors I have used Technical, Economic, Scheduling, Procedural and Legal, but as this is evaluation this would bring in factors like useability, effectiveness, efficiency etc

There seems to be a mix of whether this is an evaluation at the end of the cycle or a feasibility study needed in the analysis stage.

It reads as a feasibility study but uses evaluation criteria rather than feasibility factors

So anyway

Claim 2 Criteria Technical Efficiency

Claim 2 Comment 3 minutes is a long time to load please check you are satisfied with this

Claim 3 Criteria Technical Compatibility

Claim 3 Comment You will need to verify if your network system is one that it works with this software 

